A 1
1. Which of the following is correctly spelt ?
(1) Heirrarchy (2) Hierrarchy (3) Hierarchy (4) Heirarchy
2. Which of the following is incorrectly spelt ?
(1) Pcrsemonious (2) Orthopedist (3) Geologist (4) Refrigerator
3. Which of the following is nearest in meaning to 'zealous' ?
(1) Cutivated . (2) Stingy (3) Passionate (4) Arrogant
4. Which of the following is nearest in meaning to 'Inadvertent' ?
(1) Insignificant (2) Careless (3) Unintentional (4) Difficult
5. Which of the following is opposite in meaning to ‘Grave' ?
(1) Noble (2) Inconsequenential
(3) Solemn (4) Senile
6. Which of the following is opposite in meaning to 'Eulogy’ ?
(1) Commendation (2) Censure (3) Censor (4) Acumen
7. Ttis duc to this lethargy that the plan fell ............. ;
(1) off (2) out (3) through (4) away
8. My father has been advised to .............. his smoking.
(1) Cutdown - (2) Cut off (3) Cut into (4) Cutin
9. Food was packed, and they ........... a merry, delighted party.
(1) Went off (2) Start off - (3) Cut off (4) Setoff
10. A round-about way of expression ............. .
(1) Verbosity (2) Talkative (3) Circumlocution (4) Loquacious
11. Favouritism shown by a person in power to his relatives ............. ;
(1) Formalism (2) Red tapism (3) Nepotism (4) Bureaucracy
12. Cultural .............. is very important in international business. .
(1) sensibility (2) sensitivity (3) smartness (4) susceptibility
13. The government's handling of the situation led to .......... violations of human rights.
(1) Tumultuous (2) Obvious (3) Ostensible (4) Flagrant
14. 1. very much like to see my old classmates.
(1) can (2) should (3) would (4) might
15. The ship as well as its crew ............. gone to the bottom of the sea.
(1) has (2) have _ (3) are (4) been
16. Thec Jury .......... divided on this issue.
(1) is (2) are (3) have (4) was
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17. The twins look so exactly alike that you cannot distinguish one .......... the other.
(1) with (2) from (3) of (4) above
18. Since the prisoner was hard ......... hearing, Questioning him ........ detail was not easy.
(1) of, in (2) from, in (3) in, about (4) of, on
19. Iknow ......... certain that he has gene to England. |
(1) with (2) of (3) by (4) for
20. Wec understood the poem after the teacher .......... it to us.
(1) explained (2) has explained (3) had explained (4) was explained
21. It would have been better if they ........... .
(1) didn't leave (2) hadn't left
(3) left (4) were not leaving
22. T.......andsccyouifl...... time.
(1) come, have (2) will come, will have
(3) will come, have (4) would come, have
23. They were hungry because they ........... nothing to eat since the previous evening.
(1) had (2) had had (3) did have (4) have had
24, Ashe......... the bus, it ............ with a Jerk. .
(1) gets off, started (2) gets off, will start
(3) got off, had started (4) was getting off, started
25. If you arrived ten minutes earlier, you ........ a seat. |
(1) would get (2) would have got (3) will get | (4) would got

26. “HTH Hh o ARAT HIGEHAT AT |
SfE @l sikrg g€ ad & «ikE 11
dfraal # Si-|r STEER 8 7

(1) Iem (2) 9 (3) faRram ™ (4) g9
27. ‘Hw’, ‘FET HEHI, SRR B Raene! SR Hol-ral H AT B A B
(1) HHAET : (2) IHE=
(3) feniama B (4) IHgE gl
28. ‘fyemy’, ‘e GO, ‘9o WP HEaad e sy § g Wra R o
(1) gdpr< B ‘Froar (2) HERdr aHt ,
(3) =A== 94 (4) IHIRT e ‘Rew]
29. rERTEE’ & AT s ¥ 7
(1) gq1< (2) gra™E (3) gerdrerd (4) areHIE
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30. <l @S A P UUH HErh ‘Y u9r’ B qEs § ¢

(1) AR < (2) ST9HT 4R

(3) TATHET HE (4) e fHe Sursgm ‘sRefer
31. Fr=fefaa § 9 gonr @ gfte | H-91 9 9= B

(1) =h\f (2) &= (3) == (&) "t
32. PiefEd & 9 ader @ gt § HE-91 & 8 ¢ .

(1) X (2) IR @G)gm. -~ (4 I
33. e F 4 acel & gt | Hi-a1 9% §E 8

(1) 9=t (2) |9l (3) TIr=A (4) g1y

34. =i 7 & acil i gie | H-91 9= IS © ¢

(1) sTieiiam= (2) snfdfars (3) oTfaEiE (4) ensfats
35. fr=ifeiRad s=al & & ‘TSN o= o R o g ¢

(1) s (2) TSR (3) ergTAfy (4) sy
36. HEO-TTAT HIT a S & g BF-91 F IUGET ¥

(1) fafash | (2) A= (3) HA= (4) e
37. ‘Fmmar-fuar d d=-91 9919 8

(1) 3= I919 (2) HHIRT 9919

(3) Sgdife au ™ (4) TLST THH
38. IUHK HI 7 AEA IT

(1) st (2) =T (3) Jpite 4) =t
39. f=feifaa == & 9 f9-91 ‘ger’ &1 99y T8 ®

(1) a% (2) faeg (3) SEL | 4) =9
40. ‘SIS == H fAAH B |

(1) STt (2) . 3TTE (3) =EaH (4) THT
41, HEYT IH H TR AT B

(1) T (2) BT (3) MB 4) faem™
42. ‘S i =B gt & e o IR a= ®

(1) Rsmar (2) Rraiar (3) TETsT (4) Forehifaem
43. ‘S UX A9 Weq’ gerEk H A ¥

(1) I 8 ST (2) FHEE B ST

(3) =gt ¥ ST (4) SAfsTa s
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44, ‘TAEs’ H Gt B
(1) 99: + a9 (2) A9 + q (3) dur + a= (4) 99 + I9gF
45. HF-G7 g H e T g=F 3 ¢

(1) = (2) BEuar (3) AT (4) guHT
46. Dying declaration is admissible :

(1) only in Civil Proceedings (2) only in Criminal proceedings

(3) Neither (1) nor (2) (4) in (1) and (2) both

THHNTS HIT T8 BIdT © - |

(1) waa fafaa wEaRr o (2) Haw &PEd HEaE o

BaaMARIHQ)H 4 (1) Tgd 2) &1 &
47. Dying declaration to be admissible must be made :

(1) before Magistrate (2) before Police Officer

(3) before Doctor {(4) before any Person

e R ST e Jogaiioreh e @ fehar ST =Ry

(1) aiorete & 9ae | 2) givrE SR & |He

(3) STFeT & GHET (4) Tpelt =afRT & gAY
48. Ixpert opinion as cvidence :

(1) is conclusive proof (2) is not a conclusive proof

(3) is supportive & corroborative (4) none of above

fassst T | $ w9 A

(1) Fe=ma® @9 © (2) Freamas g TEl 3

(3) gfewmrll Td TR 3 (4) STEd H§ ¥ @ Bl

49. Photostat copy of a family settlement is allowed to be produced before Court as :

(1) original evidence (2) clectronic evidence

(3) sccondary evidence (4) primary evidence

qiftaniis 9 & SRR H FEEE B 99y SR B S *g orgART @

ST B

(1) g1 &g & «9 (2) sasif=es ang % w9 §

(3) fa<iio= areT & 9 ¥ (4) smafees grg & ®9 H
50. Preliminary decree can be passed in suit for :

(1) Partition (2) Partnership

(3) Possession and mesne profits (4) All of the above

gy feehl as ® wiRa fean s owepar © -

(1) fse= =g | (2) EEER g

(3) TS wd ST WM B (4) ST |
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51. Basis of distribution of jurisdiction of courts is :

(1) pecuniary (2) territorial
(3) subject matter (4) All of the above
el & SIfERRar & FEaRer #r o ®
(1) arieies Q)
(3) fasT =a%g . (4) SUERT Gt
52. In asuit, the list of witnesses has to be filed by the parties :
(1) before settlement of issues (2) after settlement of issues
(3) at any time (4) none of the above
mﬁ,ﬁmﬂwaﬁﬁaﬁqﬁaﬂﬁmmﬁmwaﬁq
(1) Fareept & FaerT & g4 (2) feneept & MoerRT & i
(3) fordy ¥99 W (4) ST § § Hig 7&K
53. Who can be arrested in execution of decree ? _
(1) A man (2) A woman (3) A minor (4) All of the above
feor & freoes & 68 PRoaR feam s awar 8 7
(1) TH g5 I (2) T AR &l
(3) Qb WA (4) U= G Hr
54. An agreement to remain unmarried is : |
(1) Valid (2) Voiud (3) Voidable (4) Unenforceable
affefed @ H BT & ¢
(1) I (2) = (3) RO (4) STHaAg

55. A contract with minor is : ‘
(1) Voidable at the instance of minor  (2) Voidable at the instance of other party
(3) Void (4) Valid
SAgIEr B A1 diaar gl ¢
(1) eTaT%h B e U JREUHRTNT (2) 3T UEEhR & Hed UT LI o™
(3) = (4) A

56. Creditor is a person :
(1) to whom the guarantee is given
(2) who gives the guarantee
(3) in respect of whose default the guarantee is given
(4) none of the above

ROl 98 SR B -

(1) R TR & Sy @

(2) ST MRS 34T B |

3) s e & deg § ME & SRt B
(4) IRET H | Hs A8
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57. A guarantce :

(1) has to be in writing | (2) can be oral
(3) can be oral or in writing (4) none of the above
. ﬁ . ) '
(1) e gt =nfeu (2) AiEe® B Tl o

(3) AiRges a7 [Raa & It & (4) I H | hig Ao

58. Which of the following is necessary for contract ?

(1) offer (2) movable property
(3) Immovable property (4) All of the above
1 7 & e dfaar &Y STEasge® -
(1) ST (2) I g9y
(3) oT=_T GHRT (4) ST A

59. Gift of future property is :
(1) void ' (2) voidable
(3) valid (4) conditionally void
g FHIRT H ITBR B -
(1) = (2) IO
(3) Ay (4) A A

60. Scller is a person : |
(1) who sclls or agrecs to sell goods (2) who only sclls goods
(3) who only agrees to sell goods (4) none of the above
foesaT I8 =R B

(1) S A1 W S=ar § a1 S99 & fw guHa gar B
(2) ST Had A FIAT B |

(3) SN Fas A J= B g "eHT /T B

(4) ST 7 | Hg T8

61. Conccept of partnership is commensurate with :

(1) Principal and agent (2) Co-owners of property
(3) Joint owners of property (4) All of the above
ArEErd @ STTHRET STHEY 8 : "
(1) @t ud erfdyendt (2) TRT &1 GEEEHT
(3) TRy = YT @ (4) SUERT T
62. A firm can be dissolved :
(1) with consent of all partners (2) in accordance with a contract between
partners
(3) both (1) & (2) (4) none of the above
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ue v r Rufed RRoT o gewdr ®

(1) Qi) UeTehici & |8 A (2) TRl & g dREEr & SIgEr
3) (1) w& (2) &1 (4) SURT H q BE AL
63. A right to pluck fruits and carry away & appropriate is :
(1) Immovable property (2) Not immovable property
(3) A movable property (4) Either (2) or (3)
weAl B A aur & st e fAfEeT @ st B o
(1) sraw T | (2) oTEd TRy AR
(3) =T TR (4) ar @ (2) a1 (3)

64. Preventive relief is granted at the discretion of the court :
(1) by injunction temporary or permanent  (2) by temporary injunction

(3) by permanent injunction only (4) nonc of the above

freaes gAY e & et X fRar S @

(1) =aReT T a1 &I & (2) ST FRY BRI

(3) Ba WRY AR ERT (4) SUAFT | | By TSI
65. An arbitral award is enforceable in the same manner as if it were a decree of .

(1) local authority | (2) the court

(3) the tribunal (4) both (2) & (3) above

HrezrRe Yt SE O93E gad-E ST § "M g8 B B

(1) T=IE AT . (2) I =t

(3) <AfEEpoT @ (4) IWRET (2) Q& (3) &=l

66. Chanakya was also known by another name :
(1) Bhatta Swami (2) Vishnu Gupta (3) Rajshekher (4) Vishakha Dutt
IR ! T SR A | Al STET S e |
(1) sTerenHl (2) T (3) TERER (4) fasmeEed

67. Who wrote 'Kumar Sambhav' 7 -

(1) Ban Bhatt (2) Chand Bardi  (3) Kalidas (4) None of these
‘GHAR T’ T TAAAT i &T 7
(1) sorHE 2) = W& (3) HrRiEd 4) 579 4 ®H T
68. Who is credited to abolish 'Sati Pratha' and 'Thaggi’ in India ?
' (1) Lord William Bentinck (2) Lord Dalhausie
(3) Lord Canning (4) None of these
TR # ANt gAT ©F N FH &9 A B AT B S| v 7
(1) @ Rfvem s (2) A ST
(3) §S BT %) 578 | HE &
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69. Ryotwari System of Agriculture was introduced by :

(1) Lord Macauly (2) Sir Thomas Munro
(3) Janshore (4) None of these
BN B TS FET B JHAT fHaAT @ 7
(1) € T A (2) 9 9\E 0 A
(3) ST 1 (4) 9 8 HIg T3
70. Indian National Congress was instituted during the Governor Generalship of ;
(1) Lord Ripon (2) Lord Curzon
(3) Lord Dufferin (4) Lord William Bentick
HIENT I BTG & 9T e TR SR B BRIB P AR g5 7
(1) &g Rasy (2) |iE oA -
(3) &g sHikA (4) @i fafemw dfew

71. French Revolution took place in :
Wi @ hIT e g3 7
(1) 1784 (2) 1789 (3) 1792 (4) 1794
72. The earth revolves on its axis from :
(1) Westto East (2) Eastto West  (3) North to South (4) South to North
geal SO & 9% gt 3
(1) 9item A gd © (2) 9@ § uid=a" (3) SO) & affer (4) qf{er 4 S

73. Which of the following is the largest river of the world ?

(1) Missi Shippi  (2) Amazon (3) Neel (4) Denbu
forger = q9q el 9 s § q - ¥ 7
(1) FHEfad AR i A ) B 1 A (4) 3=

74. Narmada River originates from :

(1) Bheda Ghat (2) Hosyangabad (3) Amarkantak = (4) None of these
THaT &Y T I W T H J PHe-ar ® 7

(1) FsHEE (2) BLFTETE (3) TEH<H (4) 3H | I3 T8l
75. Which of the following is known as 'Manchester of Japan' ? o

(1) Kobe (2) Osaka (3) Tokyo (4) Heroshima

T A9 9ue & YT Y wmer Sar g ?

(1) =pi=r (2) <EEm (3) T (4) e

76. The number of coastal states in India is ;
ARG ® T I & & B
(1) 7 | (2) 8 (3) 9 (4) 11
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77.

78.

79.

80.

81.

- 82.

What is the percentage of oxygen in atmospheric air ?

(1) 17% (2) 19% (3) 21% (4) 31%
argEUsra gl § oifeiier @ afae A= it B 7

(1) 17% (2) 19% (3) 21% 4) 31%
'Round Revolution' is related to :

(1) Tomato Production (2) Potato Production
(3) Egg Production (4) None of these

e st e § @ Rras w g=taa B 7

(1) THEY IdEA (2) ARG IYI&EA

(3) 3798 IMEA - (4) 599 q Hig &
Vandc Mataram, the national song is a part of which book :

(1) Anand Math : (2) Geetanjali

(3) Satyarth Prakash (4) Kamayani

g 3, a%mﬁﬁrﬁ@rﬁo—awmwmr%?
(1) IH=HS (2) NSl

(3) G WehIT (4) HEE

Custodian of fundamental Right is :

(1) Judiciary (2) Executive

(3) Parliament (4) None of these

s AR & e P § & HI9 8 7

(1) =ararirest (2) spraqiferEnt

(3) He= - (4) 9 § B A&
Article 356 deals with :

(1) Financial Emergency (2) National Emergency
(3) Presidential Rule (4) Constitutional Amendment
aTeRE 356 fopwt H | T A i ® 7

(1) fa<ia smura (2) IS A

(3) Trseufer SmEe (4) daenfses GLUEH
Who of the following President was elected unopposed ?

(1) S.Radha Krishan (2) V. V. Giri

(3) Neelam Sanjeeva Reddy (4) Giani Zail Singh

e § @ shi-ar gafa ey et get ?

(1) THo YR (2) dto dlo PRI

(3) | Heiig &l (4) s S RiE
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83.

84,

85.

86.

87.

Who of the following decides whether a bill is money bill or not ?

(1) Finance Minister (2) Chairman Rajya Sabha
(3) President (4) Speaker of Lok Sabha
aﬁéﬁﬁraﬁﬁﬁr%maﬁ i A A aar s 2
(1) forg == (2) =TGN I7eE
(3) rsgufer (4) <repaAr w i
Which of the following President has worked with Sour Prime Ministers ?
(1) Dr. Sankar Dayal Sharma | (2) Neclam Sanjeeva Reddy
(3) Fakhrudin Ali Ahmad (4) Dr. Rajendra Prasad
=1 7 | e gl { gre yamElEEt & 9 i fear 7
(1) Sfo giwTEaT 9T (2) eH Tohg G
(3) PEGET 3Tl ST8HE (4) Sfo IE=H aqE
The Quorum for Lok Sabha and Rajya Sabha Meectings is :
(1) éth of the total members - (2) %th of the total members
(3) Tlﬁth of the total members (4) %th of the total members
BT T ICUHAT FH Soh! 3G TORT 7

: - . 1
(1) BT == &1 Al -;- (2) R A &1 F 5
(3) T T A=A H % (4) @ TEE & B %
In India Consumer Protection Act was passed in :
(1) 1963 (2) 1986 (3) 1995 (4 1997
AR H IYARIT GO AT e qra fpar oy v
(1) 1963 (2) 1986 (3) 1995 (4) 1997
The zero based Budget came into existence in India in :
(1) .4th Five Year Plan (2) 7th Five Year Plan
(3) 8th Five Year Plan (4) 9th Five Year Plan

YA STERT =91 TOTRA 9IRS H e o1 § oA ?
(1) = deeadiar Q=T H (2) OEl dEauE QT J
(3) Aedi deadsiy QT # (4) A& daEty deEET §
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88.

89.

90.

a1.

92.

93.

94.

Who is the originator of Operation Flood or White Revolution in India ? |

(1) Norman Borlog (2) M. S. Swami Nathan

(3) Varghese Kurien | ~ (4) Amrita Patel

SR TS a1 99 Hi-d B FAIR 77 7 F &l 8 7

(1) FE T | (2) THo THo WM

(3) TSt HRIA (4) STHAT YA

In which year the 'Kisan Credit Card' Plan was started ? :

(1) 1991 (2) 1996 (3) 1998 (4) 2000
‘Rra sise HE’ AT & JEAN FT g9 &Hl 718 7

(1) 1991 (2) 1996 (3) 1998 (4) 2000
All Enzymes arc :

(1) Alkaloids (2) Protein (3) Carbohydrates (4) Lipids
g4 T B @

(1) Teharas (2) W& 3) wEERged  (4) fafsa
What is the normal pH of Human blood ?

(1) 45-5 (2) 5.5-6.5 (3) 7.5-8 (4) 8.5-9
q\g & T 9o pH e &t § 7

(1) 45-5 (2) 55-6.5 (3) 758 (4) 85-9
What do you mean by ALU in context of computer 7

(1) Algebric Logic Unit (2) Arithmatic Logic Unit

(3) Algebric Local Unit (4) Arithmatic Local Unit
FgeX B Gad H ALU %1 o1 o719 8 7

(1) cesifses |ifses give (2) sieAfes |t gfe
(3) TESATSIes Slehe i - (4) FIREARE i e
Atal Ayushman Plan in 2018 was started from :

(1) Madhya Pradesh (2) Uttrakhand

(3) Rajasthan (4) Himachal Pradesh

2018 F oTed SIS AT & JEATT HaT 9 & T 7

(1) AT u_ST (2) SAUEvsS

(3) T | (4) RBHE u_ST

11

Which state emerged as the 1st state to provide 10% reservation to the economically

backward General Category people ?.

(1) Uttar Pradesh (2) Madhya Pradesh (3) Gujarat (4) Rajasthan

a1l wg @ NS ggol & 10% STREOT a9 a5l Yo TS i & 7

(1) ST uasT (2) 99 UasT (3) e (4) JeTER
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05.

96.

97.

98.

99.

100.

Ninth BRICS Summit was held at :

(1) Johnasburg (South Africa) (2) Gandhi Nagar (India)

(3) Xiamen (China) (4) Sant Peters Burg (Russia)
fsrerg &7 AAler RRrer g i 9 @ e e O] gerr ?

(1) Sretaart (ST STshien) . 2) MER (WRE)

3) Praf= (39) 4) Hededgsst (@)

Which of the following state government has made the beginning of 'one family-one
job' plan in 2019 ?

(1) Assam government (2) Sikkim government

(3) Goa government (4) Gujarat government

e # O fpa o SRR 2019 # ‘T aRER-TEH B ASET S Yo
HB?

(1) 3799 §&R 3 (2) FafrT TR A

(3) Mar ¥R A (4) ORI AR A

GST was introduced in India under which constitutional Amendment Act :

(1) 100th (2) 101st (3) 103rd (4) 105th

fpe wfa™ d@ellee @1 9Ra 7 Sfto Tdo o H YEH & TR ?

(1) 1004t (2) 10147 (3) 1034t (4) 105af

Which of the following has been declared as the most pnlluted city of India by Central -
Pollution Control Board in 2018 ?

(1) Gurugram (2) Kanpur (3) Mumbai (4) Delhi

2018 ¥ B=0g wauor Frmer @ )T P 7 @ e ek @ W ot
TSfd e/ex it BT B 7

(1) T&a™ (2) BAYR 3) T=¢ (4) e
The Headquarter of UNICEEF is located at :

(1) Washington (2) New York  (3) Tokyo (4) Bern
A% w1 JEAd Hol 9 Red § 7

(1) anfiTes (2) =g (3) RN (4) s+
NITI Ayog was constituted on : _

(1) 1 January, 2015 ' (2) 1 March, 2015

(3) 1 June, 2015 (4) 1 October, 2015

AT AT H TIIT HE g8 7

(1) 15=aq, 2015 (2) 17/, 2015

(3) 154, 2015 | (4) 1315EsR, 2015
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